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N.B. .— (1 Attempt A/l questions.
(1)  All questions carry equal marks.
() W& Yy e
(i) \E YA A O 3R
MCQ
1. Choose the correct answer : 10
I IR Il
(1) Which of the following is primary sector ?
(A)  Agriculture sector (B) Industry sector
(C)  Service sector (D) None of these
TITyeh! iU WATHe & 3y ?
(A) FE & (B) @M &
(C)  Hen & (D) ATt A

(11) Which of the following sentences is correct ?
(A)  Modern method is used in traditional farming
(B)  Modern irrigation system is used in traditional farming
(C)  Traditional, modern method is used in traditional farming

(D)  Traditional, method is used in traditional farming
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WATAUsh! hivd faam T e ?

(A)
(B)
()
(D)

IRURE TAEE ST Ugdal STaad shell STl
IRURE A TYfeh STarded qGdien 9 el Sl
IRAReh IHE qRUMER, ST JGdral a9 shall Sl
JRORes YHES qRAN GGl o shefl STl

In India how many people depend on Agriculture sector directly and

indirectly ?

(A  48% (B)  56%

C)  20% D) 50%

IRA fohdl <ok Tk R AR TAE 9 AL ST Ted ?
(A  48% (B)  56%

) 20% D)  50%

What are the characteristics of rural economy ?

(A)  Agrobased Economy

(B) ~ Economic Independence

(C)  High-Burden of Population

(D)  All of the above

o Aeferadet AT Wi ?

(A FW snenfa stedegaeen (B) emfeish we@quram

(C) chEEdal aedl YR (D) ARt wd

............ is an agrobased industry.

(A)  Sugar industry (B) Coal industry

(C)  Cement industry (D) Iron and steel industry
.................. o F euia SEm em

(A)  HER FEm (B) wleEl @M

(C) faie z@m D) TEe d daR 3T

0DS56F35D48BEA 75B55C10105A 78F946C



WT

(v1)

(vi1)

( 3 ) A—382—2018

“Agricultural Economics is the study of relationship between the wealth

getting and wealth spending activities of man in agriculture.” Who

tells it ?
(A)  Gray (B)  Hibbard
(C) Walras (D)  Tailor

") gt fHesfaaren enfor T wivaren fRame & "oy fmin S
MET A HiY ST Shell Sl 3™ Hivlt w2

A ¥ (B)  fe=r

(C) dmerd™ (D) &R

Match Group ‘A’ with Group ‘B’ and select the correct answer from the

codes given below it :

Group ‘A’ Group ‘B’
(a)  Fisheries (1) Less than one hectare farm
(b) Cash crop (i1)  Export of mango
(0 Foreign currency (zz5)  Cotton
(d)  Marginal farmer (iv)  Agro-allied industry

Codes

(a) 02) ) (d)
(A) (2) (71) (v) (1)
B)  (m 62) (€27/0E)
©  w (111) €2) (1)
D) (@) €2) m Q)

P.T.O.
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T '’ g e ‘T mia Sed Jodd Sl T9s Hehdidh ael

RCEC e ‘a’
()  HEIEH () UH THRIEN HA A
(b) I R (i) e et
(0  focuit = (if) ~ HTIH
(d €[ At (i) S Wk EM
Hehdieh :

(a) (b) (0 (d
(A) (1) (111) (v) ()
B) Gw (11) (411) (1)
€ w (111) (1) (1)
D) D) (11) (1) (2

(vziii) In which year globalisation started in India ?

(A) 1791 (B) 1891
(C) 1980 (D) 1991
IRATT STRTITeh [0l shegl §&ad el ?
(A) 1791 (B) 1891
(C) 1980 D) 1991
(ix) ~ The relationship between farm size and productivity is ............
(A)  Positive (B) Inverse
(C)  Both (A) and (B) (D) None of these
drEl SRR & JAGehdl AT BECHE I
(A ®H (B) =W
(C) T (A) e (B) (D) @t
(x) What are the causes of low productivity of Indian Agriculture ?
(A)  Lack of irrigation (B) Lack of capital

(C)  Lack of transportation (D)  All of these
ARAT Fol &=t HHl Icdgehdl hRO hivt 2

(A)  TH=IART HHaE (B) Sddr=l

(C)  TooUrEesun=t T lawn (D) ATRT wd
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Theory
2. Illustrate the scope of Indian Agriculture Sector. 10
ARATE FHT &A= AT T .
Or
(fenam)
Describe the role of Agricultural sector in Indian Economic Development.

AT offYfe fashramd &t &= ffieh T &

3. Write the causes of low productivity of Indian Agriculture Sector. 10
ORATE HY &= FH ScgeHhddl HRul gl
Or
(fenam)

Write the characteristics of Rural Economy.
o teferaEdel Aftres for.
4, Write short notes on (any two) : 10
(1) HYV seeds and fertilizers
(1) Fisheries
(ii) ~ Power

(iv) ~ Farm budget.

Jqies fem faer (Foast ge)
(1) grafsre fomma sufor ed
(1) HE I

(Fi) Sl

(1v) I STESIA.
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